- | Subtraction Sentences with Operands Up to 1000 Name:

|£J
Choose the best answer

A package of hot dog buns contains 29
hotdog buns. If Gabriel used 22 buns,
how many are left? Choose a
subtraction sentence that fits the story.

29 —22=2 29 —7=22

7—22=29 29 —22=7

|£J
At the beginning of the week, Austin's

car dealership had 18 cars on the lot.
Currently 8 have been sold. How
many cars are left to sell? Write a
subtraction sentence that fits the
story. (Example: 5-4=1)

cars

Luke washed 16 dishes this
evening. 7 of those were glasses.
How many plates did Luke wash?
Write a subtraction sentence that

fits the story. (Example: 5-4=1)

plates
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Name:

M
Choose the best answer

Madeline washed 25 dishes this evening. 20
of those were glasses. How many plates did
Madeline wash? Choose a subtraction
sentence that fits the story.

5—-20=25 256 —-5=20

25—-20=16 256 —-20=5

@
Choose the best answer

Before the end of the week, Andrew needs to sell 12
magazine subscriptions. If he sold 5 subscriptions so
far, how many subscriptions are left? Choose a
subtraction sentence that fits the story.

7—5=12 12—-7=5

12—-5=38 12-5=7

|ﬁJ
Choose the best answer

Mia had a to-do list containing 22 items for
the day. By lunch, she completed 20 items.
How many items does Mia have left? Choose
a subtraction sentence that fits the story.

22—-20=2 2—-20=22
22—-20=16 22—-2=20
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Name:

1#7]

Alexander had a to-do list containing
11 items for the day. By lunch, he
completed 4 items. How many items
does Alexander have left? Write a
subtraction sentence that fits the
story. (Example: 5-4=1)

items

|ﬁJ
Choose the best answer

Brayden had a to-do list containing 15 items for the
day. By lunch, he completed 9 items. How many
items does Brayden have left? Choose a subtraction
sentence that fits the story.

15—-9=6 15—-6=9

6—-9=15 15—-9=9

|ﬁJ
Choose the best answer

Owen had a to-do list containing 6 items for
the day. By lunch, he completed 2 items. How
many items does Owen have left? Choose a
subtraction sentence that fits the story.

6—-2=21 4-2—=6
6—4=2 6—-2=4
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#10

Choose the best answer

A package of hot dog buns contains 29
hotdog buns. If Gabriel used 22 buns,
how many are left? Choose a
subtraction sentence that fits the story.

29 —22=2 29 —7=22

7—22=29 29 —22=7

#11

On a test with 7 questions, Owen
answered 4 correctly. How many
questions did he answer incorrectly?
Write a subtraction sentence that fits
the story. (Example: 5-4=1)

questions

#12

Before the end of the week, Maya needs to
sell 6 magazine subscriptions. If she sold 1
subscription so far, how many
subscriptions are left? Write a subtraction
sentence that fits the story. (Example: 5-
4=1)

subscriptions
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Question Answer
#1 choice 4
#2 18-8=10
#3 16-7=9
#4 choice 4
#5 choice 4
#6 choice 1
#7 11-4=7
#8 choice 1
#9 choice 4
#10 choice 4
#11 7-4=3
#12 6-1=5
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